Day 3: 6.2 - Introduction to Logarithms

Warm up - Solve the exponential expression: 8 =47°

EX 1 - a. Graph each exponential function and its’ inverse on the same grid.
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b. Graph the line y = x on both grids. What do you notice?
Feo and 7o are reHecke  in == leme
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c. Write the equation for each inverse function:

d. Fill in the following key features of the above graphs:
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x= 2 ? Y= ('2") z —7:>
Domain {xeR} S R , SR - {xeR} ixe@) e "S
Range {yeR|y>0} 1%&‘{% {yeR{y>0} Z’%GIP—E‘
x~intercept | none 1 1
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y-intercep e e Neoge
Asymptote(s) | y=0 = = =0
increasing or | Increasing . decreasing , i
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EX 2 - Rewrite in logarithmic form

a) 52=25
log 28= 2.
I

EX 3 - Rewrite in exponential form

a) log,36=2
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EX 4 - Evaluate a logarithm

a) log,(81)= =c
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